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1. What economic system is characterized by private or
corporate ownership of capital goods?
A. Socialism
B. Communism
C. Capitalism
D. Fascism

2. According to Adam Smith, what is a potential downside of
monopolizing the home market for domestic produce?
A. It encourages foreign competition
B. It often results in increased regulation that may be harmful
C. It guarantees higher prices for consumers
D. It ensures better wages for domestic workers

3. Which sequence accurately reflects the events leading to
the Civil War in chronological order?
A. Dred Scott decision, Lincoln-Douglas debates,

Kansas-Nebraska Act, election of Lincoln, South Carolina
secedes

B. Kansas-Nebraska Act, Dred Scott decision, election of
Lincoln, Lincoln-Douglas debates, South Carolina secedes

C. Kansas-Nebraska Act, Dred Scott decision, Lincoln-Douglas
debates, election of Lincoln, South Carolina secedes

D. Lincoln-Douglas debates, Dred Scott decision,
Kansas-Nebraska Act, election of Lincoln, South Carolina
secedes

4. Which concept describes the relationship of limited
resources to unlimited wants?
A. Demand
B. Supply
C. Scarcity
D. Accumulation
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5. What is the likely result of clustering due to Chain
Migration?
A. Isolation of immigrant groups
B. Increased diversity of cultures
C. Creation of distinctly populated communities
D. Spread of populations over a wider area

6. In what year did the U.S. enter World War I?
A. 1916
B. 1917
C. 1918
D. 1920

7. In terms of economic growth, what does an increase in
national income per worker hour indicate?
A. Decreased productivity
B. Stagnation in economic development
C. Improved productivity growth
D. Higher unemployment rates

8. Which of the following describes a limitation of
monopolistic pricing according to economic principles?
A. It supports consumer choice
B. It can lead to higher prices for goods and services
C. It encourages new competitors in the market
D. It improves product quality

9. Which document formally ended the American
Revolutionary War?
A. The Articles of Confederation
B. The Constitution of the United States
C. The Treaty of Paris (1783)
D. The Bill of Rights
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10. What was the main aim of the Civil Rights Movement?
A. To promote economic independence for African Americans
B. To end racial segregation and discrimination
C. To increase immigration rights for minorities
D. To establish African American political parties
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Answers
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1. C
2. B
3. C
4. C
5. C
6. B
7. C
8. B
9. C
10. B
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8Sample study guide. Visit https://nystce115.examzify.com for the full version

SA
M

PLE



1. What economic system is characterized by private or
corporate ownership of capital goods?
A. Socialism
B. Communism
C. Capitalism
D. Fascism

The economic system characterized by private or corporate ownership of capital goods is
Capitalism. In a capitalist economy, the means of production, such as factories and
machinery, are owned by individuals or companies rather than by the state. This system
fosters competition and allows for the free market to dictate the supply and demand of
goods and services. Individuals and businesses operate with the goal of maximizing
profits, which incentivizes innovation and efficiency.  In addition, capitalism promotes
individual economic freedom, allowing people to choose how they wish to invest, produce,
and trade. Private ownership leads to the accumulation of capital, which can drive
economic growth. The interaction of buyers and sellers in the marketplace determines
prices and the allocation of resources.  Other economic systems listed, such as socialism,
communism, and fascism, involve varying degrees of government control and collective
ownership, which distinguish them from capitalism. In socialism, for example, there is a
significant emphasis on social ownership and regulatory policies aimed at addressing
inequality. Communism seeks to eliminate private ownership altogether, advocating for a
classless society where all property is publicly owned. Fascism, while allowing for some
private ownership, includes considerable government intervention in the economy and
often aligns economic goals with state objectives rather than individual profit motives.

2. According to Adam Smith, what is a potential downside of
monopolizing the home market for domestic produce?
A. It encourages foreign competition
B. It often results in increased regulation that may be harmful
C. It guarantees higher prices for consumers
D. It ensures better wages for domestic workers

Adam Smith, in his work "The Wealth of Nations," discussed the mechanisms of the
market and the implications of monopolies. One significant downside of monopolizing
the home market for domestic produce is that it often leads to increased regulation that
can be harmful. A monopoly has the power to control prices and reduce competition,
which may prompt the government to intervene and regulate the market more heavily in
response to perceived abuses of power. This regulation can stifle innovation and
efficiency, as monopolistic companies may not have the same incentives to improve their
products or services. Thus, the presence of a monopoly can create an environment where
excessive regulation is enacted, potentially leading to negative consequences for the
economy and consumers.  The other options do not align with Smith's views as
thoroughly. While the encouragement of foreign competition is unlikely from a
monopolized home market, and increased regulation often does not yield the best
conditions for markets, Smith's focus was on the consequences of reduced competition
that a monopoly brings. Additionally, monopolies often lead to higher prices for
consumers, but higher prices are not synonymous with better wages for domestic workers
and do not always guarantee wage increases in monopolized or controlled labor markets.
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3. Which sequence accurately reflects the events leading to
the Civil War in chronological order?
A. Dred Scott decision, Lincoln-Douglas debates,

Kansas-Nebraska Act, election of Lincoln, South Carolina
secedes

B. Kansas-Nebraska Act, Dred Scott decision, election of
Lincoln, Lincoln-Douglas debates, South Carolina secedes

C. Kansas-Nebraska Act, Dred Scott decision, Lincoln-Douglas
debates, election of Lincoln, South Carolina secedes

D. Lincoln-Douglas debates, Dred Scott decision,
Kansas-Nebraska Act, election of Lincoln, South Carolina
secedes

The sequence that accurately reflects the events leading to the Civil War is significant in
understanding the escalation of tensions between the North and South during this
tumultuous period in American history.  Beginning with the Kansas-Nebraska Act, passed
in 1854, this legislation allowed new territories to decide for themselves whether they
would allow slavery through popular sovereignty. This act heightened sectional conflict
and led to violent confrontations known as "Bleeding Kansas."  Following this, the Dred
Scott decision in 1857 marked a critical judicial moment where the Supreme Court ruled
that African Americans could not be considered citizens and that Congress had no
authority to prohibit slavery in the territories. This decision further polarized public
opinion and escalated tensions between abolitionists in the North and pro-slavery
factions in the South.  The Lincoln-Douglas debates occurred in 1858 during the Illinois
Senate race and brought national attention to the issue of slavery, with Abraham Lincoln
and Stephen A. Douglas discussing the future of slavery in the nation. Although Lincoln
lost that election, his performance in the debates increased his prominence and laid the
groundwork for his presidential campaign.  In the 1860 election, Abraham Lincoln's
victory was pivotal. The Southern states perceived his election as a threat to the
institution of slavery, prompting South

4. Which concept describes the relationship of limited
resources to unlimited wants?
A. Demand
B. Supply
C. Scarcity
D. Accumulation

The concept that best describes the relationship between limited resources and unlimited
wants is scarcity. Scarcity occurs when the available resources necessary to satisfy
human wants and needs are insufficient. This principle underpins the fundamental
problem in economics, highlighting that there are finite resources (like time, money, and
materials) available to fulfill the endless desires of individuals and society as a whole. 
Scarcity prompts individuals and societies to make choices about how to allocate their
limited resources in order to meet various needs and desires. Therefore, understanding
scarcity is crucial to grasping why economics emphasizes the importance of choices and
trade-offs when resources are limited. This concept forms the basis for many economic
theories and discussions about distribution and resource management.
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5. What is the likely result of clustering due to Chain
Migration?
A. Isolation of immigrant groups
B. Increased diversity of cultures
C. Creation of distinctly populated communities
D. Spread of populations over a wider area

Clustering due to Chain Migration often results in the creation of distinctly populated
communities. When immigrants from a specific region or country migrate to a new area,
they often settle in close proximity to one another. This phenomenon is driven by the
desire to maintain cultural ties, share resources, and support one another in adjusting to
a new environment. As these groups settle together, they establish neighborhoods that
reflect their unique cultural identities, social networks, and languages.  This clustering
can lead to the formation of vibrant, culturally rich communities that serve as enclaves
for the immigrants and their families. Over time, these communities can become
established areas characterized by particular cultural practices, businesses, and
traditions, making them distinct from the surrounding regions. This pattern also helps
new immigrants find familiar support networks and services tailored to their cultural
needs, further contributing to the distinctiveness of these communities.   As for the other
outcomes, while clustering can sometimes result in a sense of isolation for immigrant
groups, that is not the defining characteristic of chain migration. Additionally, while
increased diversity of cultures can occur in areas with multiple immigrant groups, chain
migration typically leads to an increase in the population from a specific culture rather
than an overall increase in cultural diversity. Finally, rather than spreading populations
over a wider area,

6. In what year did the U.S. enter World War I?
A. 1916
B. 1917
C. 1918
D. 1920

The United States entered World War I in 1917, a significant event that marked a turning
point in the war. Prior to this, the U.S. had maintained a position of neutrality, despite
increasing tensions and involvement through economic and military support to the Allies.
The decision to join the conflict was influenced by several key factors, including
unrestricted submarine warfare by Germany, which threatened American civilian lives
and commercial interests, and the interception of the Zimmermann Telegram, in which
Germany proposed a military alliance with Mexico against the United States.  By entering
the war, the U.S. provided much-needed manpower and resources that bolstered the
Allied forces, contributing to the eventual defeat of the Central Powers. The impact of the
American entry into the war was profound, as it not only altered the dynamics of the
conflict but also marked the U.S.'s emergence as a significant global power.
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7. In terms of economic growth, what does an increase in
national income per worker hour indicate?
A. Decreased productivity
B. Stagnation in economic development
C. Improved productivity growth
D. Higher unemployment rates

An increase in national income per worker hour is a strong indicator of improved
productivity growth. This metric suggests that workers are generating more economic
output for each hour they work, which typically results from several factors, including
advancements in technology, better training, more efficient processes, or greater
investment in capital. Such enhancements enable workers to produce more goods and
services within the same time frame, reflecting a healthier and more dynamic economy.  
As national income rises in relation to hours worked, it demonstrates that resources are
being utilized more effectively and that the economy is likely operating at a more
productive level. This increase contributes positively to overall economic growth and can
lead to higher standards of living. Moreover, it often signals businesses are thriving,
fostering further investment and job creation, rather than stagnation or increasing
unemployment rates.

8. Which of the following describes a limitation of
monopolistic pricing according to economic principles?
A. It supports consumer choice
B. It can lead to higher prices for goods and services
C. It encourages new competitors in the market
D. It improves product quality

Monopolistic pricing is characterized by a single firm dominating a market, which gives
it considerable power to set prices. This power can lead to higher prices for goods and
services because the monopolist can control supply and demand without the pressure of
competition. In a competitive market, various firms strive to attract consumers by
offering lower prices or improved products. However, with a monopoly, the absence of
competition allows the monopolist to raise prices above the equilibrium level that would
prevail in a competitive market. Consequently, consumers may face limited options and
have to pay more for goods and services, highlighting a key limitation of monopolistic
pricing.   The other options do not accurately describe limitations of monopolistic
pricing. For instance, monopolistic practices often lead to less consumer choice rather
than supporting it. Additionally, monopolies usually discourage new competitors since
they possess substantial resources and market influence that make entry barriers high.
Lastly, while monopolies might improve product quality to maintain their customer base,
this is not an inherent limitation of their pricing strategy; instead, it may be a strategic
choice rather than a direct consequence of monopolistic pricing itself.
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9. Which document formally ended the American
Revolutionary War?
A. The Articles of Confederation
B. The Constitution of the United States
C. The Treaty of Paris (1783)
D. The Bill of Rights

The Treaty of Paris, signed in 1783, formally ended the American Revolutionary War,
marking the recognition of the United States' independence from Great Britain. This
treaty established the boundaries of the new nation and laid the groundwork for future
diplomacy and interactions with other countries. Its significance lies in the formal
acknowledgment of the United States as a sovereign state, which was a crucial step in the
country's development.  In contrast, the Articles of Confederation served as the first
governing document of the United States but was created after the war and addressed
the structure of government rather than ending the conflict. The Constitution of the
United States came later and established a stronger federal government, while the Bill of
Rights encompassed the first ten amendments to the Constitution, focusing on individual
liberties and rights rather than matters of war and peace. Therefore, the Treaty of Paris
is the key document that concluded the hostilities and recognized American
independence.

10. What was the main aim of the Civil Rights Movement?
A. To promote economic independence for African Americans
B. To end racial segregation and discrimination
C. To increase immigration rights for minorities
D. To establish African American political parties

The central aim of the Civil Rights Movement was to end racial segregation and
discrimination, primarily against African Americans. This movement, which gained
significant momentum in the 1950s and 1960s, sought to dismantle the systemic barriers
that enforced inequality in various aspects of life, including education, employment,
housing, and public services. Key events, such as the Montgomery Bus Boycott and the
March on Washington, highlighted the demand for equal rights and played a critical role
in achieving landmark legislation, including the Civil Rights Act of 1964 and the Voting
Rights Act of 1965. These laws were instrumental in addressing and reducing racial
discrimination, making the movement’s overarching goal one of achieving equality and
justice in society.   Other options present valid issues but do not capture the primary
focus of the movement. For example, while economic independence for African
Americans was an important outcome hoped for by many activists, it was not the main
goal of the movement. Similarly, increasing immigration rights for minorities and
establishing African American political parties are important issues, but they were not
the central focus of the Civil Rights Movement, which was primarily concerned with
combating racial injustice and ensuring civil rights for African Americans.
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